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What's the problem?

48606 Wikipedia article traffic statistics
y [4 | >] [ + € http://stats.grok.se/ C] (Q' Google \
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&  Wikipedia article traffic statistics

What do Wikipedia's readers care about? Is Britney Spears more popular than Brittany? Is Asia Carrera more
popular than Asia? How many people looked at the article on Santa Claus in December? How many looked at
the article on Ron Paul?

What can you find?

Enter a wikipedia article title and press Go "' L
| English :| [ 201401 ¢/ | [Go | [ Top | I !

News:

e 2008-02-29: Non-English statistics added (available from February)
e 2008-03-05: Added top list for English Wikipedia. Other projects will be added soon.
e 2008-03-19: Top 1000 articles in February for all projects.

About these stats. The raw data is available here. This is very much a beta service and may disappear or change at any time.

http://stats.grok.se/



What's the problem?

e 00 Wikipedia article traffic statistics
Wl + €3 http://stats.grok.se/en/latest90/Christmas
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Wikipedia article traffic statistics

Christmas has been viewed 2345449 times in the last 90 days. This article ranked 6064 in traffic on
en.wikipedia.org.

latest 30 60 90 days
180000

“Christmas”

2013-10-26 2013-12-20 2013-12-31 2014-01-12

2013-11-06 20131117 2013-11-28

Date

2013-10-15 2013-12-09

togagle labels
| English +| | 201401 +| | Christmas | [ Go | | Top |
This page In json format. (took 0.74433597 1238 sec) 257

About these stats. The raw data is available here. This is very much a beta service and may disappear or change at any time.




What's the problem?

® 00 Wikipedia article traffic statistics
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Wikipedia article traffic statistics

Christmas has been viewed 2345449 times in the last 90 days. This article ranked 6064 in traffic on
en.wikipedia.org.

latest 30 60 90 days
180000

“Christmas”

2013-12-31 2014-01-12

“This page in jSO“ format’ T

toggle labels

+| [ 201401 # | | Christmas | [ Go | | Top |

This page In json format. (took 0.744395371298 sec) 257

About these stats. The raw data is available here. This is very much a beta service and may disappear or change at any time.



What's the problem?

e OO0 . | http://stats.grok.se/json/en/latest90/Christmas "
{ [4 | b] [ + € http://stats.grok.se/json/en/latest90/Christmas C] (Q* Google \ [0]

{"daily_views": {"2013-12-23": 71937, "2013-12-22": 45513, "2013-12-21": 42604, "2013-12-20": 49818, "2013-12-27": 24018, "2013-
12-26": 52410, "2013-12-25": 149222, "2013-12-24": 155846, "2013-11-08": 12107, "2013-12-04": 56896, "2013-12-09": 59081, "2013-
12-08": 44951, "2014-01-07": 21874, "2014-01-04": 7355, "2014-01-05": 1127, "2014-01-02": 10365, "2014-01-03": 8884, "2014-01-01":
| 10204, "2013-12-29": 12922, "2014-01-08": 9520, "2014-01-09": 7638, "2013-12-28": 15599, "2014-01-11": 4192, "2014-01-10": 5716,
| "2013-11-28": 29190, "2013-11-29": 30154, "2013-11-22": 21886, "2013-11-23": 17400, "2013-11-20": 21785, "2013-11-21": 23641,
"2013-11-26": 28943, "2013-11-27": 29713, "2013-11-24": 20694, "2013-11-25": 28842, "2013-12-30": 13762, "2013-12-31": 12640,
"2013-10-30": 10763, "2013-10-31": 11784, "2013-12-12": 40398, "2013-12-13": 37021, "2013-12-10": 60227, "2013-12-11": 55353,
"2013-12-16": 49399, "2013-12-17": 52023, "2013-12-14": 25774, "2013-12-15": 31081, "2013-11-30": 28342, "2013-12-18": 54102,
"2013-12-19": 53252, "2013-10-29": 10128, "2013-10-28": 9174, "2013-10-25": 7572, "2013-10-24": 8599, "2013-10-27": 8158, "2013-
10-26": 5793, "2013-10-21": 8854, "2013-10-20": 6787, "2013-10-23": 9192, "2013-10-22": 9406, "2013-12-01": 38329, "2013-12-03":
54187, "2013-12-02": 53076, "2013-12-05": 58304, "2013-11-09": 9884, "2013-12-07": 38798, "2013-12-06": 50741, "2013-11-04":
12389, "2013-11-05": 12932, "2013-11-06": 13742, "2013-11-07": 13779, "2013-11-01": 11202, "2013-11-02": 8360, "2013-11-03":
8784, "2013-10-15": 7319, "2013-10-16": 7291, "2013-10-17": 7604, "2013-10-18": 8081, "2013-10-19": 6456, "2013-11-13": 17449,
"2013-11-12": 17265, "2013-11-11": 16466, "2013-11-10": 11655, "2013-11-17": 16732, "2013-11-16": 14661, "2013-11-15": 16633,
"2013-11-14": 17279, "2013-11-19": 22304, "2013-11-18": 22116}, "project": "en", "month": "latest90", "rank": 6064, "title":
"Christmas" }
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54187, 2013-12-027- 530706, "2013-12-05": 58304, "2013-T1-09 . 9884, "2013-12-07" 38798, 2013-12-00": 50/4T, 2013-11-04"
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"2013-11-14": 17279, "2013-11-19": 22304, "2013-11-18": 22116}, "project": "en", "month": "latest90", "rank": 6064, "title":
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https://www.codecademy.com/learn/python

code|cademy Login m

Python

Continue your learning by starting Python.

Estimated time: 13 hours
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Don’t worry about errors!

- ‘! Sam Grigg i~ ¥ Follow

samgrigg

How to write software:
1) Write a line of code

2) Google error message

3) Read stackoverflow Programming questions
4) Goto: 1 and answers website

4 Reply T3 Retweet W Favorited ®®® More

s moere BNV RNEBSRSEE
RETWEETS FAVORITES = =, l -

7:48 PM - 25 Apr 2013
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Free R packages: examples

install.packages(c("RCurl™, "RJSONIO", "twitteR"))

Goes to get data from the

Internet for you
library(RCurl)
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Free R packages: examples

install.packages(c("RCurl™, "RJSONIO", "twitteR"))

Goes to get data from the

Internet for you
library(RCurl)
Library(RJSONIO) Turns "JSON" into a table
you can understand
library(twitteR)

Goes to get data
from Twitter for you
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What to learn: R and
RStudio

http://www.r-project.org/
http://www.rstudio.com/




What to learn: Python
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code|cademy Login m

Python

Continue your learning by starting Python.

https://www.codecademy.com/learn/python




rstudio::conf Products Resources Pricing  AboutUs Blogs Q

R Programming

There are hundreds of websites that can help you learn R. Here’s how you
can use some of the best to become a productive R programmer.

Start by downloading R and RStudio.

Learn the basics

Visit DataCamp or Try R to learn how to write basic R code. Both sites
provide interactive lessons that will get you writing real code in minutes.
They are a great place to make mistakes and test out new skills. You are
told immediately when you go wrong and given a chance to fix your code.

Or try Leada. Leada gets you programming in your own environment with
videos and exercises. The first few courses are free and cover how to install
R and RStudio.



Over 25,000 learners to date

https://www.futurelearn.com/courses/big-data



Suzy.Moat@wbs.ac.uk

A - ‘e
,,,,,

Programming skills will unlock huge volumes
of interesting social data for you -
great return on investment
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